


 
 

Part-A 
 
1. Consider  the  following: 

1. Aravali 

2 Vosgos 

3. Mt. Fujiyama 

4. Himalaya 

How many of the above Mountains are examples 
of  Block Mountain 

(a) Only one (b) Only two 

(c) Only three (d) All four 

 
2. Which one of the following cities will never get 

the vertical rays of the sun? 

(a) Baramulla 

(b) Mumbai 

(c) Kolkata 

(d) Thiruvananthapuram 

 
3. Consider  the  following statements: 

1. It has gravitational attraction. 

2. It does not seem to interact with light. 

3. It may provide an explanation for 
anomalies in the laws of gravity. 

The above description most appropriately is 
related to which of the following concepts related 
to space? 

(a) Dark Matter 

(b) Red Giant 

(c) Supernova 

(d) Heliosphere 

 
4. Which of the following is/are pull factor/s of 

migration? 

1. Better opportunities 

2. Availability  of  regular  work 

3. Relatively higher  wages 

How many of the statements given above are 
correct? 

(a) Only one 

(b) Only two 

(c) Only three 

(d) None 

5. Which one of the following is the correct order in 
which the following cities are located from West 
to East? 
(a) Alwar-Gorakhpur-Ranchi-Bhagalpur 
(b) Bhagalpur-Ranchi-Alwar-Gorakhpur 
(c) Ranchi-Alwar-Bhagalpur-Gorakhpur 
(d) Gorakhpur-Bhagalpur-Ranchi-Alwar 

 
6. Which of the following is/are true about Anti 

Matter? 
1. Antimatter was created along with matter 

after the Big Bang 
2. Antimatter is abundant in today’s universe 
Select the correct answer using the code given 
below: 
(a) 1 only (b) 2 only 
(c) Both 1 and 2 (d) Neither 1 nor 2 

 
7. Consider the following statements regarding 

Subsidiary Alliance  System: 
1. Under Subsidiary Alliance System, 

Indian rulers had to maintain British army 
in their region. 

2. Both British and Indian rulers paid the 
expense of the British  Army. 

Which of the above statements is/are correct? 
(a) Only 1 (b) Only 2 
(c) Both 1 and 2 (d)  Neither 1 nor 2 

 
8. During the Indian freedom struggle in the early 

20th century, which one of the following set up a 
“Swadesh Sewak Home” in Vancouver? 
(a) G. D. Kumar 
(b) Madan Lal Dhingra 
(c) V. D. Savarkar 
(d) Tarak Nath Das 

 
9. Consider the following: 

1. The Constitution of India 
2. The Supreme Court Rules 
3. Conventions 
The authority of the Chief Justice of India (CJI) 
to allocate cases to benches in the Supreme 
Court, stems from how many of the above- 
mentioned sources? 
(a)   Only one (b) Only two 

(c)   All three (d)     None 
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10. Consider the following pairs 
Revolt Associated Region 

1. Paika - Maharashtra 
2. Kuka’s revolt - Punjab 
3. Rampa revolt - Kerala 
How many of the above pairs are correctly 
matched? 
(a) Only one (b) Only two 
(c) All three (d) None 

 
11. What are the implication of liquidity deficit in 

monetary system? 
(a) Decrease in rates for consumers 
(b) Less availability of credit for developmental 

activities 
(c) Decrease government security  yield 
(d) All of the above 

 
12. Who was the first Indian to become a member 

of  executive of Governor General? 
(a) V.O.C. Pillai 
(b) Satyendra Nath Sinha 
(c) V.V.S. Iyer 
(d) N.C. Kelkar 

 
13. Consider the following pairs : 

Disease Causative organism 
1. Ascariasis Bacteria 
2. Hepatitis Virus 
3. Tetanus Protozoa 
How many of the above pairs are correctly 
matched? 
(a) Only one (b) Only two 
(c) All three (d) None of the above 

 
14. Consider the following sources: 

1. Nuclear Fusion 
2. Gravitational contraction 
3. Chemical Reaction 
4. Nuclear fission 

Which of the above is/are the source of energy 
in stars? 
(a) 1 and 3 only (b) 3 and 4 only 
(c) 1 and 4 only (d) 1 and 2 only 

15. Who among the following has issued the coin 
rupee for the first time? 
(a) Muhammad-bin-Tughluq 
(b) Alauddin Khilji 
(c) Sher Shah 
(d) Akbar 

 
16. Who among the following Chinese travelers 

visited the kingdoms of Harshavardhana and 
Kumar Bhaskar Varma? 
(a) I-tsing (b) Fa-Hien 
(c) Hiuen Tsang    (d) Sun Shuyu 

 
17. Ibn Batuda’s work, Rihla completed in 1355, is 

(a) an autobiography 
(b) an account of the Delhi Sultans from Aibek 

to Ghiyas-ud-din Tughlaq 
(c) a  religious text 
(d) an account of trade with Morocco 

 
18. Which of the following statements about the 

Vijayanagara Empire is / are true? 
1. The kings claimed to rule on behalf of the 

God Virupaksha 
2. Rulers used the title “Hindu Suratrana” to 

indicate their close links with Gods 
3. All royal orders were signed in Kannada, 

Sanskrit and Tamil 
4. Royal portrait sculpture was now displayed 

in temples 
Select the correct answer using the code given 
below : 
(a) 4 only (b) 1 and 2 only 
(c) 1,2 and 3 (d) 1,2 and 4 

 
19. Consider the following statements about Sufisin 

in India: 
1. Pilgrimage called ziyarat to tombs of Sufi 

saints is an important feature. 
2. The most influential group of Sufis in India 

were the Chishtis. 
Which  of the  statements given above is/are correct ? 
(a) 1 only (b) 2 only 
(c) Both 1 and 2 (d) Neither 1 nor 2 
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20. Consider the following statement about Great 
Indian bustard 

1. It is endemic to India only. 

2. It is Critically Endangered on the IUCN Red 
List 

3. It is also listed in Appendix I of CITES and 
covered under CMS or Bonn Convention. 

How many of the statements given above are 
correct? 

(a) Only one (b) Only two 

(c) All three (d) None 

 
21. Consider the following pairs: 

Generation of  Bio fuel Derived from 

1. First  Generation It uses the food 
Crops like wheat and 
sugar for making 
ethanol and oil seed 

2. Second Generation It uses specially 
Engineered Algae 

3. Third Generation    It uses non-food 
crops and feedstock 

Which of the pairs given above are correctly 
matched? 

(a) 1 only (b) 2 only 

(c) 1 and 3 only (d) All of the above 

 
22. Which of the following is / are not depicted 

in the Rajput paintings ? 

1. The stories of  Krishna 

2. Ragas and Raginis 

3. The deeds of  Hamza 

4. The deeds of Babur 

Select the correct answer using the code 
given below : 

(a) 1,2 and 3 (b) 2, 3 and 4 

(c) 3 and 4 only (d) 4 only 

 
23. Socialism is opposed to 

(a) social security scheme 

(b) equal distribution  of  wealth 

(c) unrestricted competition 

(d) collective  ownership  and  management 

24. Which one of the following is the common 

element between the Kailasanatha Temple at 

Ellora and the Shore Temple at 

Mamallapuram ? 

(a) Both are examples of  Nagara architecture 

(b) Both are carved out from solid rocks 

(c) Both are Gupta period temples 

(d) Both were built under the patronage of 
Pallava Kings 

 
25. Which  one of the following is not one of the 

modes of acquisition of citizenship under the 
Citizenship Act, 1955? 

(a) Descent 

(b) Registration 

(c) Incorporation of territory 

(d) Overseas  citizenship/dual citizenship 
 

26. What are Geosynclines? 

(a) Arched upfolds in the strata of the earth’s 
crust. 

(b) Major structural downfolds in the earth’s 
crust. 

(c) Large scale rises in the earth’s crust. 

(d) Sliding of plate margins inside the earth’s 
crust. 

 
27. Match List-I (Landforms) with List-II 

(Processes) and select the correct answer using 
the codes given below the lists: 

List-I (Landforms) List-II (Processes) 

A. Natural Levees 1. Aeolian 

B. Eskar 2. Karst 

C. Polje 3. Fluvial 

D. Barchan 4. Glacial 
 

Codes:  

A B C D 

(a) 1 3 2 4 

(b) 3 2 4 1 

(c) 1 2 3 4 

(d) 3 4 2 1 
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28. Which one among the following was not an 

attribute  of Samudragupta described in 

Prayag Prashasti ? 

(a) Sharp and polished intellect 

(b) Accomplished sculptor 

(c) Fine musical performances 

(d) Poetical talent of a genius 
 

29. Which of the following statements is not correct 
about the Attorney-General for India? 

(a) He shall hold office at the pleasure of the 
President. 

(b) He should be qualified to be appointed a 
Judge of the High Court. 

(c) He shall have the right to an audience in all 
courts in the territory of India. 

(d) He gives advice to the Government of India 
upon such legal matters, and to perform such 
other duties of a legal character. 

 
30. Consider the following places: 

1. San Francisco 

2. Adelaide 

3. Cape Town 

4. Sydney 

How many of above have Mediterranean 
climate? 

(a) Only one (b) Only two 

(c) Only three (d) All four 
 

31. Consider the following pairs: 

River Merges with 

1. Parvati : Beas 

2. Chandra : Sutlej 

3. Pindar : Alaknanda 

4. Tons : Bhagirathi 

How many of the above pairs are correctly 
matched? 

(a) Only one (b) Only two 

(c) Only three (d) All four 

32. Kamandaka’s Nitisara is a contribution to : 
(a) Logic and Philosophy (b) Mathematics 

(c) Political morality (d) Grammar 
 

33. Consider the following statements: 

Statement-I: A river system can continue to cut 
down its valleys at approximately the same rate 
as uplift and so maintains its general pattern and 
direction. 

Statement-II: In case of an antecedent drainage 
system, the river is said to have originated before 
a period of uplift and folding of land as a result of 
earth movement 

Which one of the following is correct in respect 
of the above statements? 

(a) Both Statement-I and Statement-II are 
correct and Statement-II is the correct 
explanation for Statement-I. 

(b) Both Statement-I and Statement-II are 
correct and Statement-II is not the correct 
explanation for Statement-I. 

(c) Statement-I is correct but Statement-II is 
incorrect. 

(d) Statement-I is incorrect but Statement-II is 
correct. 

 
34. The term ‘Cosmic Microwave Background’ is 

often seen in the news in the context of 
(a) Leftover radiation from the Big Bang 
(b) A background noise in recordings 
(c) Search for the Earth-like planets in outer 

space 
(d) Radiation used to Search for Aliens 

 
35. Which among the following Acts were 

repealed by Article 395 of the Constitution of 
India? 

1. The Government of India Act, 1935 

2. The Indian Independence Act, 1947 

3. The Abolition of Privy Council Jurisdiction 
Act, 1949 

4. The Government of India Act, 1919 

Select the correct answer using the code given 
below. 
(a) 1 and 2 only (b) 1 and 3 only 

(c) 1, 2 and 3 only (d) 1, 2, 3 and 4 
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36. Coral reefs are formed by: 
(a) Volcanic rocks 
(b) Marine sediments 
(c) Chlorine material precipitated from sea 

water 
(d) Tiny colonial marine animals which 

construct limestone skeleton material 
 

37. On 26th November, 1949, which of the 
following provisions of the Constitution of 
India came into effect? 
1. Citizenship 
2. Elections 
3. Provisional Parliament 
4. Fundamental Rights 

Select the correct answer using the code 
given below. 

(a)   2, 3 and 4 (b) 1, 2 and 3 
(c) 1 and 3 only (d) 1 and 2 only 

 
38. Which one of the following statements regarding 

gold is not correct? 
(a) 24 karat gold is very soft 
(b) 22 karat gold is generally used to make 

ornaments. 
(c) 22  karat gold contains  22 parts of pure 

gold and 2 parts of iron to make it hard 
(d) 18 karat gold comprises of  75% gold 

mixed with 25% of copper or silver to make 
it hard. 

 
39. Nodal agency responsible for the implementation 

of the RTI Act is 
(a) Ministry of Finance 
(b) Law Ministry 
(c) Ministry of  Personnel, Public Grievances 

and  Pensions 
(d) Ministry of Statistics and Programme 

Implementation 
 

40. Who among the following established the 
Swadeshi Steam Navigation Company? 
(a) A.D. Shroff 
(b) Harisarvottam Rao 
(c) V.O. Chidambaram Pillai 
(d) Walchand Hirachand 

41. Which of the following statements best describes 
the Carbon Border Adjustment Mechanism 
(CBAM)? 
(a) CBAM is a policy aimed at reducing carbon 

emissions from international aviation and 
shipping industries. 

(b) CBAM is a mechanism designed to ensure 
fair competition between domestic and 
foreign industries by levying tariffs on 
imported goods based on their carbon 
footprint. 

(c) CBAM is an international agreement to 
establish a global carbon pricing mechanism 
to incentivize countries to reduce greenhouse 
gas emissions. 

(d) CBAM is a financial instrument used by 
governments to subsidize renewable energy 
projects and incentivize clean energy 
production. 

 
42. Consider the following pairs: 

Area / City of conflict Country where it 
mentioned in news is located 
1. Chinshwehaw Thailand 
2. Pattani Ethiopia 
3. Amhara Myanmar 
How many of the above pairs are correctly 
matched? 
(a) Only one 
(b) Only two 
(c) All three 
(d) None 

 
43. Consider the following: 

1. Corporate philanthropy 
2. Stake holders priorities and sustainable 

development 
3. Ethical business 
How many of the above are the 
dimension(approach) of corporate social 
responsibility? 
(a) Only one 
(b) Only two 
(c) All three 
(d) None 
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44. Which one of the following best describes the 
term “ECOCIDE”? 
(a) Non-inclusion of ecological/ environmental 

costs in the Annual Financial Statements of 
a country 

(b) Wanton acts committed with knowledge 
that there is a substantial likelihood of severe 
and either wide spread or long-term 
damage to the environment being caused 
by those acts. 

(c) Making mandatory provisions for 
environmental costs in a government 
project/ programme 

(d) Ignoring the economic consequences while 
undertaking social and other infrastructural 
activities / Programme 

 
45. The national income of a country for a given period 

is equal to the 

(a) total value of goods and services produced 
by the nationals 

(b) sum of total consumption and investement 
expenditure 

(c) sum of personal income of allindividuals 

(d) money value of final goods and services 
produced 

 
46. In the context of Indian economy, consider the 

following statements ? 

1. The growth rate of GDP has steadily 
increased in the last five years. 

2. The growth rate in per capita income has 
steadily increased in the last five years. 

Which of the statements given above is/are 
correct? 

(a) 1 only (b) 2 only 

(c) Both 1 and 2 (d) Neither 1 nor 2 
 

47. With reference to India economy, consider the 
following statements: 

1. The rate of growth of real Gross Domestic 
Product has steadily increased in the last decade. 

2. The Gross Domestic Product at market prices (in 
rupees) has steadily increased in the last decade 

Which of the statement given above is/are correct? 

(a) 1 only (b) 2 only 

(c) Both 1 and 2 (d) Neither 1 nor 2 

48. Economic growth in country X will necessarily have 
to occur if 

(a) There is  technical progress in  the world 
economy 

(b) There is population growth in X 

(c) there is capital formation in X 

(d) the volume of trade grows in the world 
economy 

 

49. Increase in absolute and per capita real GNP do 
not connote a higher level of economic 
development, if 

(a) industrial output fails to keep pace with 
agricultural output. 

(b) agricultural output fails to keep pace with 
industrial output. 

(c) poverty and unemployment increase. 

(d) imports grow faster than exports. 
 

50. Which of the following statements regarding the 
Constituent Assembly of India is/are correct? 

1. The Assembly  was elected indirectly by 
the members of the Provincial Legislative 
As- semblies. 

2. The elections were held on the basis of  
Uni- versal Adult Franchise. 

3. The scheme of election was laid down by 
the Cabinet Delegation. 

4. The distribution of seats was done on the 
basis of the Mountbatten Plan. 

Select the correct answer using the code given below. 

(a) 1 only (b) 1, 2 and 3 

(c)   2 and 4 (d) 1 and 3 only 

 
51. Which of the following statements about the 

Deccan Riots of 1875 is/are true? 

1. The Deccan Riots resulted in protection for 
peasants through the Deccan Agricultural- 
ists Relief Act of 1879. 

2. The riots did not spread to the whole of 
Maharashtra because of prompt suppres- 
sion by the British. 



 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
(c) (d) 

x 

(a) 

(b) x 

(c) x 

(d)  

(a) 

(b) 

(c) 

 
(d) 

 
(a) 

 
(b) 

(c) 

 
(d) 

(a) 

(c) 

(b) 

(d) 

(a) (b) 

GNP 

(a) 

(b) 

(c) 

(d) 

(a) 

(b) 

(c) 

(d) 



 
 

3. The British were unable to contain the riots 
and they spread throughout Maharashtra. 

4. The cotton boom in the Deccan that had 
been caused by the artificial demand gener- 
ated by the American Civil War caused the 
impoverishment of the peasants. 

Select the correct answer using the code given below. 

(a) 1 only 

(b) 1 and 3 

(c) 2 and 4 only 

(d) 1, 2 and 4 
 

52. Photochemical smog is a resultant of the reaction 

among 

(a) NO2, O3 and peroxyacetyl nitratein the 
presence of sunlight 

(b) CO, O2 and peroxyacetyl nitrate inthe 
presence of sunlight 

(c) CO, CO2 and NO2 at low temperature 

(d) High concentration of NO2, O3and CO in 
the evening 

 

53. Consider the following: 

1. Carbon monoxide 

2. Nitrogen oxide 

3. Ozone 

4. Sulphur dioxide 

Excess of which of the above in the environment 

is/are cause(s) of acid rain ? 

(a) 1, 2 and 3 (b) 2 and 4 only 

(c) 4 only (d) 1,3 and 4 
 

54. A layer in the earth’s atmosphere called ionosphere 

facilities radio communication. Why? 

1. Presence of ozone causes the reflection of radio 

waves to earth. 

2. Radio waves have a very long wavelength. 

Which of the statements given above is/are correct ? 

(a) 1 only (b) 2 only 

(c) Both 1 and 2 (d) Neither 1 nor 2 

55. The jet aircrafts fly very easily and smoothly in 
the lower stratosphere. What could be the 
appropriate explanation ? 

1. There are no clouds or water vapour in the 
lower stratosphere. 

2. There are no vertical winds in the lower 
stratosphere. 

Which of the statements given above is/are correct 
in this context ? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 
56. Which one of the following statements about the 

Missile Technology Control Regime is not correct? 

(a) The Missile Technology Control Regime is 
an informal andvoluntarypartnership initially 
formed among G-7 countries. 

(b) Members of the Missile Technology Con- 
trol Regime prevent the proliferation of mis- 
sile and unmanned aerial vehicle technology 
capable of carrying above 500 kg payload 
for more than 300 km. 

(c) China applied to join the Regime but mem- 
bers did not offer the membership. 

(d) No other country outside the membership 
follows the Regime rules. 

 
57. Which of the following statements about the 

Progressive Writers’ Association, which created 
a generation of creative people, is/are correct? 

1. It thought critically about the poverty and hun- 
ger of the Indian people. 

2. It brought out the positive developments of 
colonialism. 

3. Its creative pursuits began with a critical 
evaluation of Gandhian politics. 

4. It planned India’s development model. 
Select the correct answer using the code given 
below. 
(a) 1 only 

(b) 2 and 3 

(c) 1 and 4 

(d) 1 and 3 
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58. Satellite used for Tele communication relay are 
kept in a geostationary orbit. A satellite is said to 
be in such orbit when 

1. The orbit is geosynchronous. 

2. The orbit is circular. 

3. The orbit lies in the plane of the earth’s 
equator. 

4. The orbit is at an altitude of 22,236 km. 

Which the correct answer using the codes given 
below : 

(a) 1, 2 and 3 only (b) 1,3 and 4 only 

(c) 2 and 4 only (d) 1,2,3, and 4 

 
59. E. V. Ramaswami Naicker was associated with 

1. reforming Brahminism 

2. the Self-Respect Movement 

3. the Low Caste Movement 

4. the Communist Movement 

Select the correct answer using the code given 
below. 
(a)  1, 2, 3 and 4 

(b)  1 and 3 only 

(c)  1 and 4 only 

(d) 1 and 3 only 

 
60. Consider the following statements about ‘Param 

Vir Chakra' : 

1. It is the highest peacetime gallantry award. 

2. It is the replacement of  British Victoria Cross. 

3. It can be awarded to civilians. 

Which of the statements given above is/are cor- 
rect? 
(a) 1 only (b) 2 only 

(c)   2 and 3 only (d) 1, 2 and 3 

 
Part-B 

Read each of the following two passages and 
answer the items that follow. Your answers to 
these items should be based on the passages only. 

Passage 

For achieving inclusive growth there is-a critical 
need to rethink the-role of the State. The early 
debate among economists about the size of the 
Goverment can be misleading. The need of the 
hour is to have an enabling Government. India is 
too large and complex a nation for the State to be 

able to deliver all that is needed. Asking the 
Government to produse all the essential goods, 
create all the necessary jobs, and keep a curb on 
the prices of all goods is to lead to a large 
cumbersome bureaucracy and widespread 
corruption. The aim must be to stay with the 
objective of inclusive growth that was laid down 
by the founding fathers of the nation and also to 
take a more modern view of what the State can 
realistically deliver. This is what leads to the idea 
of an enabling State, that is, a Government that 
does not try to directly deliver to the citizens 
everything that they need. Instead, it (1) creates 
an enabling ethos for the market so that individual 
enterprise can flourish and citizens can, for the 
most part, provide for the needs of one another, 
and (2) steps in to help those who do not manage 
to do well for themselves, for there will always 
be individuals, no matter what the system, who 
need support and help. Hence we need a 
Government that, when it comes to the market, 
sets effective, incentive-compatible rules and 
remains on the sidelines with minimal 
interference, and, at the same time, plays an 
important role in directly helping the poor by 
ensuring that they get basic education and health 
services and receive adequate nutrition and food 
. 

61. According to passage : 
1. The objective of inclusive growth was laid 

down by the founding fathers of the nation. 
2. Need of the hour is to have an enabling 

Government. 
3. The Government should engage in maximum 

interference in market processes. 
4. There is a need to change the size of the 

Government. 
Which of the statements given above are correct ? 
(a) 1 and 2 only (b) 2 and 3 only 
(c) 1 and 4 only (d) 1, 2, 3 and 4 

 
62. According to the passage, the strategy of inclusive 

growth can be effected by focussing on 
(a) meeting all the needs of every citizen in the 

country. 
(b) Increasing the regulations over the 

manufacturing sector. 
(c) Controlling the distribution of manufacturing 

goods. 
(d) Delivery of the basic services to the deprived 

sections of the society. 
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63. What constitutes an enabling Government? 

1. A large bureaucracy. 

2. Implementation of welfare programmes 
through representatives. 

3. Creating an ethos that helps individual 
enterprise 

4. Providing resources to those who are 
underprivileged. 

5. Offering direct help to the poor regarding basic 
services. 

Select the correct answer from the codes given 
below : 

(a) 1, 2 and 3 only (b) 4 and 5 only 

(c) 3, 4 and 5 only (d) 1, 2, 3, 4 and 5 

 
64. Why is the State unable to deliver “all that is 

needed”? 

1. It does not have sufficient bureaucracy. 

2. It does not promote inclusive growth. 

Select the correct answer from the codes given 
below : 

(a) 1 only (b) 2 only 

(c) Both 1 and 2 (d) Neither 1 nor 2 

 
65. What is essential message being conveyed by the 

author of the passage? 

(a) The objectives of inclusive growth laid down 
by the founding fathers of the nation should 
be remembered. 

(b) The Government needs to make available more 
schools and health services. 

(c) The Government needs to establish markets 
and industries to meet the needs of the poor 
strata of the society. 

(d) There is a need to rethink the role of the State 
in achieving inclusive growth. 

 
Passage 

The concept of ‘creative society’ refers to a phase 
of development of a society in which a large 
number of potential contradictions become 
articulate and active. This is most evident when 
oppressed social groups get politically mobilised 
and demand their rights. The upsurge of the 
peasants and tribals, the movements for regional 
autonomy and self-determination, the 
environmental movements, and the women’s 

movements in the developing countries are signs 
of emergence of creative society in contemporary 
times. The forms of social movements and their 
intensity may vary from country to country and 
place to place within a country. But the very 
presence of movements for social transformation 
in various spheres of a society indicates the 
emergence of a creative society in a country. 

 
66. What does the author imply by “creative society”? 

1. A society where diverse art forms and literary 
writings seek incentive. 

2. A society where social inequalities are 
accepted as the norm. 

3. A society where a large number of 
contradictions are recognised. 

4. A society where’ the exploited and the 
oppressed groups grow conscious of their 
human rights and upliftment. 

Select the correct answer using the codes given 
below : 

(a) 1, 2 and 3 (b) 4 only 

(c) 3 and 4 (d) 2 and 4 

 
67. What according to the passage are the 

manifestations of social movements? 

1. Aggressiveness and being incendiary. 

2. Instigation by external forces. 

3. Quest for social equality and individual 
freedom. 

4. Urge for granting privileges and self-respect 
to disparaged sections of the society. 

Select the correct answer using the codes given 
below: 
(a) 1 and 3 only (b) 2 and 4 only 

(c) 3 and 4 only (d) 1, 2, 3 and 4 

 
68. With reference to the passage consider the 

following statements: 

1. To be a creative society, it is essential to have 
a variety of social movements. 

2. To be a creative society, it is imperative to 
have potential contradictions and conflicts. 

Which of the statements given above is/are 
correct ? 

(a) 1 only (b) 2 only 
(c) Both 1 and 2 (d) Neither 1 nor 2 
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Passage-1 
Ecosystems provide people with a variety of goods 
and services; food, clean water, clean air, flood 
control, soil stabilization, pollination, climate 
regulation, spiritual fulfilment and aesthetic 
enjoyment, to name just a few. Most of these 
benefits either are irreplaceable or the technology 
necessary to replace them is prohibitively 
expensive. For example, potable fresh water can 
be provided by desalinating sea-water, but only at 
great cost. The rapidly expanding human population 
has greatly modified the Earth’s ecosystems to 
meet their increased requirements of some of the 
goods and services, particularly food, fresh water, 
timber, fibre and fuel. These modifications have 
contributed substantially to human well being and 
economic development. The benefits have not 
been equally distributed. Some people have 
actually been harmed by these changes. Moreover, 
short-term increases in some ecosystem goods and 
services have come at the cost of the long-term 
degradation of others. For example, efforts to 
increase the production of food and fibre have 
decreased the ability of some ecosystems to 
provide clean water, regulate flooding and support 
biodiversity. 

 
69. With reference to the passage, consider the 

following statements. Expanding human’ population 
has an adverse effect on: 
1. Spiritual fulfilment 2. Aesthetic enjoyment 
3. Potable fresh water 4. Production of food 

and fibre 
5. Biodiversity 
Which of the statements given above are correct ? 
(a) 1, 2 and 3 only (b) 2, 4 and 5 only 
(c) 3 and 5 only (d) 1, 2, 3, 4 and 5 

 
70. The passage mentions that “some people have 

actually been harmed by these changes.” What 
does it imply? 
1. The rapid expansion of population has 

adversely affected some people. 
2. Sufficient efforts have not been made to 

increase the production of food and fibre. 
3. In the short term some people may be harmed, 

but in the long term everyone will benefit from 
modifications In the Earth’s ecosystems. 

Which of the statements given above is/are 
correct? 
(a) 1 only 
(b) 2 only 
(c) 1 and 3 

(d) None of the statements given above 

71. With reference to the passage, consider the 
following statements: 
1. It is imperative to modify the Earth’s 

ecosystems for the well being of mankind. 
2. Technology can never replace all the goods 

and services provided by ecosystems. 
Which of the statements given above is/are correct ? 
(a) 1 only (b) 2 only 
(c) Both 1 and 2 (d) Neither 1 nor 2 

Paasage 

A moral act must be our own act; must spring 
from our own will. If we act mechanically, these 
is no moral content in our act. Such action would 
be moral, If we think it proper to act like a machine 
and do so. For, in doing so, we use our 
discrimination. We should bear in mind the 
distinction between acting mechanically and acting 
intentionally. It may be moral of a king to pardon a 
culprit. But the messenger carrying out the order 
of pardon plays only a mechanical part in the king’s 
moral act. But if the messenger were to carry out 
the king’s order considering it to be his duty, his 
action would be a moral one. How can a man 
understand morality who does not use his own 
intelligence and power of thought, but lets himself 
be swept along like a log of wood by a current? 
Sometimes a man defies convention and acts on 
his own with a view to absolute good. 

 
72. Which of the following statements best describe/ 

describes the thought of the writer? 
1. A moral act calls for using our discretion. 
2. Man should react to a situation immediately. 
3. Man must do his duty. 
4. Man should be able to defy convention in order 

to be moral. 
Select the correct answer from the codes given 
below : 
(a) 1 only (b) 1 and 3 
(c) 2 and 3 (d) 1 and 4 

 
73. Which of the following statements is the nearest 

definition of moral action, according to the writer ? 
(a) it is a mechanical action based on official 

orders from superiors. 
(b) It is an action based on our sence of discretion. 

(c) It is a clever action based on the clarity of 
purpose. 

(d) It is a religious action based on understanding. 



  

(a) 
(c) 

(b) 
(d) 

(a) 
(b) 
(c) 
(d) 

(a) 
(c) 

(b) 
(d) 

(a) 
(c) 

(b) 
(d) 

 
 
(a) 
 
(b) 

(c) 

(d) 



 
 

74. The passage contains a statement “lets himself 
be swept along like a log of wood by a current.” 
Among the following statements, which is/are 
nearest in meaning to this? 
1. A person does not use his own reason. 

2. He is susceptible to influence/pressure. 
3. He cannot withstand difficulties/challenges. 

4. He is like a log of wood. 

Select the correct answer using the codes given 
below: 
(a) 1 only (b) 1 and 2 
(c) 2 and 3 (d) 1 and 4 

Passage 

A country under foreign domination seeks escape 
from the present in dreams of a vanished age, and 
finds consolation in visions of past greatness. That 
is a foolish and dangerous pastime in which many 
of us indulge. An equally questionable practice for 
us in India is to imagine that we are still spiritually 
great though we have come down, in the world in 
other respects. Spiritual or any other greatness 
cannot be founded on lack of freedom and 
opportunity, or on starvation and misery. Many 
western writers have encouraged that notion that 
Indians are other-worldly. I suppose the poor and 
unfortunate in every country become to some 
extent other-worldly, unless they become 
revolutionaries, for this world is evidently not meant 
for them. So also subject peoples. 
As a man grows to maturity he is not entirely 
engrossed in, or satisfied with, the external 
objective world. He seeks also some inner 
meaning, some psychological and physical 
satisfactions. So also with peoples and civilizations 
as they mature and grow adult. Every civilization 
and every people exhibit these parallel streams of 
an external life and an internal life. Where they 
meet or keep close to each other, there is an 
equilibrium and stability. When they diverge conflict 
arises and the crises that torture the mind and spirit. 

 
75. The passage mentions that “this world is evidently 

not meant for them”. It refers to people who 

1. seek freedom from foreign domination. 

2. live in starvation and misery. 

3. become revolutionaries. 

Which of the statements given above is/are correct ? 

(a) 1 and 2 (b) 2 only 

(c) 2 and 3 (d) 3 only 

76. How many numbers with distinct digits are possible 
product of whose digits is 28? 

(a) 6 (b) 4 

(c) 8 (d) 12 
 

77. A 4-digit number of the form aabb is a perfect 
square. What is the value of a -b? 

(a) 3 (b) 2 

(c) 1 (d) 4 
 

78. n2 + 5n + 6 is a multiple of 6. n is natural number 
less than 100. How many values can n take? 

(a) 33 (b) 65 

(c) 66 (d) 67 
 

79. A number 416 + 1 is divisible by x. Which among 
the following is also divisible by x? 

(a) 496 + 1 (b) 432  + 1 

(c) 48 + 1 (d) 448 + 1 
 

80. A four-digit number is formed by using only the 
digits 1, 2 and 3 such that both 2 and 3 appear at 
least once. The number of all such four-digit 
numbers is 

(a) 32 (b) 56 

(c) 50 (d) 64 
 

81. Find the smallest number that leaves a remainder 
of 4 on division by 5, 5 on division by 6, 6 on division 
by 7, 7 on division by 8 and 8 on division by 9? 

(a) 2519 (b) 5039 

(c) 1079 (d) 979 

82. The sum of two non co prime numbers added to 
their HCF gives us 91. How many such pairs are 
possible? 

(a) 2 (b) 4 

(c) 3 (d) 6 
 

83. How many factors of 1080 are perfect squares? 

(a) 4 (b) 6 

(c) 8 (d) 5 
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84. If a three- digit number ‘abc’ has 2 factors (where 
a, b, c are digits), how many factors does the 6- 
digit number ‘abcabc’ have? 

(a) 16 (b) 24 

(c) 18 (d) 30 
 

85. What is the remainder when we divide 390 + 590 by 
34? 

(a) 0 (b) 17 

(c) 33 (d) 1 
 

86. IVZHLMRMT is a secret code for REA- 
SONING. You have to telex the reply 
QUANTITATIVE using a code based on the 
pattern used to code REASONING? 

(a) JFZMGRGXGRUV 

(b) JFZMGQGYGRVE 

(c) JFZMGSGZGRWE 

(d) JFZMGRGZGREV 
 

87. 2, 4, 2 : 4, 16, 4 : :  1, 1, 1 : ? 

(a) 2, 4, 2 

(b) 1, 1, 1 

(c) 2, 2, 2 

(d) 2, 13, 2 
 

88. How many such 'P' are there in the letter series 
each of which is preceded by 'S' and followed 
by    'R' ? 

S J A S P R B K T D U L C S P R D M V C N E 
S P R F O W B P G S P R H Q X A Z Y R I S P 
R 

(a) 490 (b)   3 

(c) 5 (c)   6 
 

89. If 'P3Q' means 'P is the daughter of Q', 'P5Q' 
means 'P is the father of Q', 'P7Q' means 'P is 
the mother of Q' and 'P9Q' means 'P is the 
sister of Q'. How is J related to K in 
J3L9N3O5K ? 

(a) Mother 

(b) Wife 

(c) Niece 

(c) Daughter 

90. Statements: 
All roads are fighter jets. 
All fighter jets are parrots. 
Conclusions: 
I. All parrots are roads. 
II. All parrots are fighter jets. 
(a) only I follow 
(b) only II follow 
(c) Both I and II follow 
(d) Neither I nor II follow 

 
91. Statements: 

Some tables are chairs. 
All chairs are benches. 
All benches are desks. 
Conclusions: 
I. Some desks are tables. 
II. Some benches are tables. 
III. Some desks are chairs. 
IV. All desks are benches. 
(a) Only I and II follow 
(b) Only I and III follow 
(c) Only I, II and III follow 
(d) All follow 

 
Read the following information given below and 
answer the questions that follow: 
(i) P, Q, R, S, T, U and V are seven friends 

and are sitting in a circle facing the center of 
the circle. 

(ii) V is second to the left of S and is the neighbour 
of T and U. 

(iii) S is not a neighbour of R or T. 
(iv) P is neighbour of Q and R. 

 
92. Which of the following is correct? 

(a) Q is between P and S. 
(b) S is between U and P. 
(c) T is to the immediate right of V. 
(d) U is to the immediate left of V. 

 
93. In a basket there are different colour of flower, 

except six all are of pink colour, except six all are 
of red colour, except six all are of white colour. 
How many total flowers are in the basket? 

(a) 6 (b) 12 

(c) 18 (d) 9 
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94. There are 3 oranges, 4 guavas and 5 mangoes in 
a basket. In how many ways can a person make 
a selection of one or more fruits from the basket? 

(a) 129 (b) 60 

(c) 120 (d) 119 

 
95. There are three boxes each containing 3 Pink and 

5 Yellow balls and also there are 2 boxes each 
containing 4 Pink and 2 Yellow balls. A Yellow ball 
is selected at random. Find the probability that 
Yellow ball is from a box of the first group? 

(a) 42/61 (b) 45/61 

(c) 51/61 (d) 52/61 

 
Passage 

Contrary to popular belief, the idea of evolution 
didn’t originate with Darwin, but was around for 
decades before he came along. His 
accomplishment was to come up with a workable 
scheme by which it likely occurred. Darwin, it must 
be said, had unusual exposure to the enormous 
diversity of life on earth for a man living in his 
time, through his voyage on the Beagle. However, 
his eureka moment came not through studying 
biology, but by reading the paper of an economist, 
Thomas Malthus, which showed that populations 
grow faster than the resources to sustain them. It 
was then that Darwin realized that only those best 
adapted to their environment would survive and 
pass on their traits to offspring. 

 
96. What is the main idea of this paragraph? 

(a) It is impossible to come up with big insights 
without crossing domains. 

(b) The idea of evolution did not originate with 
Darwin. 

(c) It is Malthus, not Darwin, who should be given 
credit for the theory of evolution. 

(d) It was the connections that Darwin uncovered 
more than the facts themselves that made his 
work important. 

Passage 

It has been argued by behavioural economists in 
all earnestness that poverty shapes mindsets. From 
here, it is a hop, skip, and jump to holding that the 
poor are poor because their poverty prevents them 
from thinking and acting in ways that can take 
them out of poverty. When behaviourist economics 
speaks of poverty as a “cognitive tax”, it writes 

‘action’ — the political agency of the poor — out 
of the equation. In such a case, the focus as well 
as the onus of poverty-alleviation would shift from 
the state — from macroeconomic policy, from 
having to provide employment, health and 
education — to changing the behaviour of the poor. 
The structural causes of poverty — rising 
inequality and unemployment — as well as the 
behaviour of the owners of capital are evicted from 
the poverty debate, and no longer need be the focus 
of public policy. 

 
97. Which of these options best summarizes the given 

paragraph? 

(a) Where decisions of the poor tend to be flawed 
from an economic point of view, behavioural 
economists believe that governments can 
intervene with policies aimed at nudging the 
poor towards the right decision. 

(b) By shifting the burden of poverty alleviation 
from the state onto the poor themselves, 
behavioural economists are ignoring both the 
structural causes of poverty as well as the 
behaviour of the wealthy. 

(c) Given that poverty diminishes political agency 
and shapes mindsets, insights into how poverty 
affects behaviour could have implications in 
public policy. 

(d) The focus of public policy ought to be in 
providing employment, health and education, 
rather than addressing rising inequality and 
changing the behavior of the poor. 

 
Passage 

A recent study, published in the Proceedings of 
the National Academy of Sciences, has shown 
that high-level mathematical reasoning rests on a 
set of brain areas that do not overlap with the 
classical left-hemisphere regions involved in verbal 
semantics. Instead, all domains of mathematics 
tested (algebra, analysis, geometry, and topology) 
recruit a bilateral network, of prefrontal, parietal, 
and inferior temporal regions, which is also 
activated when mathematicians or non- 
mathematicians recognize and manipulate numbers 
mentally. These results suggest that high-level 
mathematical thinking makes minimal use of 
language areas and instead recruits circuits initially 
involved in space and number. This result may 
explain why knowledge of number and space, 
during early childhood, predicts mathematical 
achievement. 
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98. Which of these options best summarizes the given 
paragraph? 

(a) High-level mathematical expertise and basic 
number sense share common roots in a non- 
linguistic brain circuit. 

(b) Regardless of domain- algebra, analysis, 
geometry or topology- mathematicians 

recognize and manipulate numbers mentally. 

(c) Classic left-hemisphere regions involved in 

verbal semantics are not as well developed in 

mathematicians as the brain areas involving 

number and space. 

(d) The mathematical achievement of an individual 

can be predicted based on his knowledge of 

number, space and language during childhood. 

 

Passage 

Since the Holocaust is an axial event of modern 
history, its misunderstanding turns our minds in the 
wrong direction. When the Holocaust is blamed 
on the modern state, the weakening of state 
authority appears salutary. On the political right, 
the erosion of state power by international 
capitalism seems natural; on the political left, 
rudderless revolutions portray themselves as 
virtuous. In the 21st century, anarchical protest 
movements join in a friendly tussle with global 
oligarchy, in which neither side can be hurt since 
both see the real enemy as the state. Both the left 
and the right tend to fear order rather than its 
destruction or absence. 

 
99. Which of these options best summarizes the given 

paragraph? 

(a) The Holocaust was a result of an all-powerful 
state, which forced order through fear and 
crushed dissent from both the political right 
and the political left. 

(b) Following the Holocaust, the power of the state 
has been systematically eroded by international 
capitalism and rudderless revolutions, as both 
the right and the left fear order more than its 
absence. 

(c) The weakened state is the fundamental reason 

for disorder in the world, be it anarchical 

uprisings, global oligarchy or the Holocaust. 

(d) The Holocaust is not to be blamed on the 

modern state, but on the tussle between the 

political right and the political left. 

 

Passage 

Journalism may never have been as public-spirited 

an enterprise as editors and writers liked to think 

it was. Yet the myth mattered. It pushed journalism 

to challenge power; it made journalists loath to 

bend to the whims of their audience; it provided a 

crucial sense of detachment. The new generation 

of media giants that dominates journalism today 

has no patience for the old ethos of detachment. 

It’s not that these companies don’t have aspirations 

toward journalistic greatness. BuzzFeed, Vice, and 

the Huffington Post invest in excellent reporting 

and employ first-rate journalists—and they have 

produced some of the most memorable pieces of 

investigative journalism in this century. But in the 

pursuit of audience, they have allowed the endless 

feedback loop of the web to shape their editorial 

sensibility and determine their editorial investments. 

100. Which of these options best summarizes the given 

paragraph? 

(a) The belief that editorial insight can be 

engineered with the help of audience feedback 

loops has eroded the very nature of journalism. 

(b) The ethos of detachment and social- 

consciousness that marked journalism earlier 

has been progressively eroded by the relentless 

pursuit of the audience by media giants. 

(c) By playing to the audience, media giants that 

have engulfed journalism today have shattered 

the myth of detachment and compromised 

editorial sensibility. 

(d) The steady rise in the role of media giants in 

journalism and their strategic pursuit of the 

audience has had a damaging effect on the 

quality of journalism and its ethos. 
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